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In what ratio must a mixture of 30% alcohol strength be mixed wit ’
that of 50% alcohol strength so as to get a mixture of 45% alcohol

strength”?
30% HTHIZT ATl THHT FT 50% Ueshigel JTAT aTel {07 § ey s1uma

| i firerrm STTU o 97 =0T | 45% STeehig<t gl

(a) 1:2

(b) 1:3
(c) 2:1
(d) 31
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40 litres of a mixture of milk and water contains 10% of water, the ‘
water to be added, to make the water content 20% in the now |
mixture Find how many litres water will be added?
| 40 e ohffrwfra;%mﬁ'{trﬁﬁ%l aﬁ'{ﬂﬁwﬁaﬁw 10% & a1 AU
TH=19T § 9741 1 ATAT 20% 9T o 10 S8qH TR AT 9141 =T S0

!

(a) 6 litres
(b) 6.5 litres |

(c) 5.5 litres '
(d) 5 litres
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\ Il 12500 students appeared in an exam. 50% of the boys and 70%
the girls cleared the examination. If the total percent of students
qualifying is 60%, %, how many girls appeared in the exam?

‘ 12500%@Tﬁwqﬁwfﬁaﬁnﬁﬁg\zl 50% @E+ AT 70% ASTHAT
TIEAT IO vl T IO 2 a7l F AT 7 Jiaerd 60% g, av
T&&Wfﬂohddl TS haT AEATAIT g5 7

(a) 6500
(b) 6200
(c) 5500
(d) 6250
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In 2 kg mixture of copper and aluminium, 30% is copper. How much
aluminium powder should be added to the mixture so that the quantity

| of copper becomes 20%?

qie 3 TRATH & 2 foh.°T. [ 5 30% TtaT g1 =6 77 § fohaAr
USRI qTee R e ST AR SHE a7 1 A qard 20%

| st

(a) 900 gms
(b) 800 gms
(c) 1000 gms
(d) 1200 gms
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In 80 litres mixture of milk and water the ratio of amount of milk ‘
that of amount of water is 7:3 In order to make this ratio 2:1, how
many litres of water should be added?
80 <HTeX = TH H & AT IHT T HTAT T AT 7:3 1 2:1 AT

AT o [0 ¥ Toha 12X 9THT THATAT ST

(@)
(b) 6
(c) 8
(d) 4
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The milk and water In a mlxture are in the are ratio 7:5. When 1
litres of water are added to it. The ratio of milk and water in the new
mixture becomes 7:8 The total quantity of water in the new mixture

IS :-

. @fﬁwﬁg‘asﬁ‘{ﬁwa qTd 7:5 81 T THH 15 ofiex gt e
Gﬂ‘clT%l sl "I'\cll dl\fﬁwfrgaﬁ‘{m‘rﬁwa qTd g9 AL qIAT /T

3Ffl'|_cl'7 8 B SITdT 2| Wfﬁwﬁwﬁaﬁwwm 35 litres
(b) 40 litres
(c) 60 litres
(d) 96 litres
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In what ratio must a grocer mix tea at Rs.60 per kg and Rs.65 per ’
kg, so that by selling the mixture at Rs. 68.20 per kg, he may gain
10%.
60 =9F/TRUT. 3T 65 EGA/THAT. aTett AT il Tohd AT | HATIT ST
o fr=ror =7 68.20 T1A/FHIT. =99 9T 10% FT AT ITH 2l

il

(a) 3:2
(b) 3:4
(c) 3:5
(d) 4:5
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Two types of tea costing 180/kg and ¥ 280/kg. In what ratio should >SS “

these be mixed so that obtained mixture sold at 320/ kg to earn a

profit of 20% is :-

3 180/T=R4T 3T 280/ ToHRIT AT AT &1 Tohed sl =T T AT |

|8 T StTo R e Rreror R 320/ TR AR & 9T a9 9T 20% FT ATH

- aﬁﬁg‘r?
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Acid and water are mixed in Vessel A in the ratio of 5 2 a ‘
In vessel B in the ratio 8:5. In what proportion shoul
guantities be taken out from the two vessels so as to form a
new mixture in which the acid and water will be in the ratio of
9:47
T A H STFT 3T ITHT T AT 5:2 g1 Fdd B H 7% 3T qTHT T
AqATT 8:5 Bl AT FadAl F Fhe AqUTd H =T F WA AT
AehRTAT SITT dTieh 90 THET H 3% 3T qTieh AU {0 § % 30T
TTHT T ST 97T 9:4 2T (a) 7:2
{9)) 2 7
(c) 7
(¢) 2 3
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A barrel contains a mixture of wine and water in the ratio 3:1.How @&\
much fraction of the. mixture must be drawn off and substituted by

water so that the ratio of wine and water in the resultant mixture in
the barrel becomes 1:1 ?

@fﬁwﬁﬁﬁﬂ@‘{m‘rﬁw AT 3:1 %’l TR0 # | fohaqar
GEIEIRSILY SﬁTB—clﬂTgQrm‘rﬁfﬁWw'\ T THT07 | | 3T 97T 0

|| AT 1: 1| &1 S0y

o/




A trader had 9 quintals of wheat, He sold a part of it at 10%
profit and the rest at 20% profit, so that he made a total profit of |
14% How much wheat did he sell at 20% profit? |
T SATATT o OT9 9 feheet g AT 399 % BT 10% T 3L dTeht
T TBEAT 20% ATH 9T o= <7, 36 Th1E IH T 14% T g2l 399
20% TH 9 Toha T g a=77?

(a) 540
(b) 360 kg
(c) 180 kg
(d) 720




A vessel contains 60 litre of milk. 12 litres of milk taken out from it and
replaced with water. Then again from mixture, 12 litres is taken out and
replaced with water. The ratio of milk and water  in the resultant mixture
IS :-

T g9 H 60 S1e 3¢ gl I9H H 12 e g Mty ot 92 33w Srar 2

TR & 39 o § § 12 offex 39 Mahrershe qret 92 foar strar g g T fFsror
T4 3T ATAT T AT FAT 1?2

(a) 16:9
(b) 15:10
(c) 16:10
(d) 9:5
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] | In an alloy, zinc and copper are in the ratio 1:2. In the second aIIo ‘ \

|} the same elements are in the ratio 2:3. If these two alloys be mixed |
to form a new alloy in which two elements are in the ratio 5:8, the |

ratio of these two alloys in the new alloys is :

l T g f@lﬁﬁ‘{q@lq<ohl311q|d12%’|§ﬁ T | TSR 3T
°h|‘1< FT AqATT 2:3 gl Iiw =7 AT T grqat 1 W Sirar g ar 9y
| ffr%Ta'lijrﬁWZHﬁTohw(ohl AT 5:8 B ATAT g T A7 {41 § =4

AT T T T STaTd TAT3
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! A jar contained a mixture of two liquids A and B in the ratio 4: ‘
When 10 litres of the mixture was taken out and 10 litres of liquid E

|| was poured into the jar. This ratio became 2:3. The quantity of §
liquid A contained in the jar initially was -
T ST H & A 3T &9 B & 07 T (quTa 4:1 g1 ST 10 =fie & o
Al AT 3T 10 S(1eX 59 B STAT S1a1 g1 a6 ST H 3 A i &9 B &7

| ST 2:3 BT STAT gl IEH H 3 A it qT=T aq10

(a) 4 litres
(b) 8 litres
(c) 16 litres
(d) 40 litres
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An alloy contains zinc, copper and tin in the ratio 2: 3:1 and ¢ ‘ \
ua

other contains copper, tin and lead in the ratio 5:4:3. If eq
weights of both alloys are melted together to form a third alloy, then
the weight of lead per kg in the new alloy will be.

Qaﬁfﬁs’%rr@fr [STh, 192 3T feT &7 o1 quTa 2:3:1 B {H‘ﬁfﬁ%‘rm@ﬁ
| °h|‘1< R 3t e AqATT 5:4:3 Bl Ti< THIT AT ATAT 4 17T 41q

il 1 '\%HTWWW%CII T A% 7 91q a1 2 Wﬁra&r@fmﬁ'@r

T T oheal AT IdT0|

(a) 1/8 kg
(b) 72 kg
(c) 3/14 kg
(d) 7/9Kg
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] ! A mixture contains wine and water in the ratio 3:2 and anothq@a\
| mixture contains them in the ratio 4:5.How many litres many litres
of the latter mixture must be mixed with 3 litres of the former
| mixture so that the resultant mixture may contain equal quantities
! of wine and water?

wﬁrwﬁnﬁﬂsﬁ‘{m—rﬁw AT 32%l§ﬂ3{ﬁrsﬂwfmﬁﬂ3ﬁ‘{m‘rﬁ
|+ AT 4:5 gl Tohad <fiex g = 9gor arer 3 e Ao |

THATIT 10 St [0 § [HAT ST qrieh 90 {400 § Hie<T oY 9T

\l T JTAT 1T 3l (a) litres
(b) 5 litres
(c) 4 litres
(d) 3 litres




